
Time: 10 Minutes Paper Science 8 Total Marks: 10

3rd Month, 3rd Week, 3rd Day Syllabus: Unit 6: Types of reactions to decomposition

reaction.

Q.No.1 Encircle the correct answer from the following choices. (0.5 <<<< 6 = 3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. How many types of chemical reactions?  6666ððððgggg~~~~ZZZZ¶¶¶¶ÅÅÅÅXXXXZZZZllllxxxx÷÷÷÷????

(a) 2 (b) 3 (c) 4 (d) 5

ii. The reaction in which two or more substances reacts to form a compound is

called: ZZZZ((((gggg~~~~ZZZZ½½½½TTTT}}}}ŠŠŠŠzzzzcccc****iiiicccc****ŠŠŠŠ{{{{qqqq,,,,ïïïï™™™™ááááîîîî&&&&++++¯̄̄̄NNNNBBBB@@@@****ìììì::::

(a) Displacement reaciton e
_5Ó4g.3ï FGEHg~Z½ (b) Double displacement reaciton e.Þe

_5Ó4g.3ï FGEHg~Z½

(c) Combination reaciton JVg~Z½ (d) Decomposition reaction e~ìicg~Z½

iii. The formula of ammonia is: ZZZZññññ****»»»»ÃÃÃÃggggññññÑÑÑÑìììì::::

(a) HCl (b) NH3 (c) NH4 (d) NaCl

iv. The chemical formula of lead oxide is: 7777WWWW‚‚‚‚àààà»»»»6666ððððÃÃÃÃggggññññÑÑÑÑìììì::::

(a) PbO (b) Pb2O (c) PbO3 (d) Pb2O3

v. CaCO3  CaO + CO2 The is equation shows:

))))zzzzZZZZ]]]]ªªªªCCCCÙÙÙÙ™™™™CCCCìììì:::: tttt CaO + CO2 CaCO3 

(a) Combination reaction JVg~Z½ (b) Decomposition reaction e~ìicg~Z½

(c) Displacement reaction e
_5Ó4g.3ï FGEHg~Z½ (d) Addition reaction Zi+cg~Z½

vi. Which equation shows combination reaction? ÃÃÃÃyyyyÏÏÏÏ))))zzzzZZZZ]]]]JJJJVVVVgggg~~~~ZZZZ½½½½ÃÃÃÃªªªªCCCCÙÙÙÙ™™™™CCCCìììì????

(a) Zn + CuSO4 ----� ZnSO4 + Cu (b) 2KClO4  2KCl + 3O2

(c) CaO + CO2 ----� CaCO3 (d) BaCl2 + Na2SO4 ----� BaSO4 + NaCl

Q.No.2. Write short answers.      (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) What is decomposition reaction? e~ìicg~Z½Hì?

(ii) Write two examples of combination reaction. JVg~Z½ÅŠzVBKX

Q.No.3. Write long answer.      (3) ----����ZZZZ[[[[KKKKXXXX
(i) Write a note on combination reactions. JVg~Z½6,âK̂X
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